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Question no. 1 : Who was the First Indian to go to 
jail in performance of his duty as a journalist ?  
 1) Dadabhai Naoroji 2) Lokmanya Tilak 
 3) G. K. Gokhale 4) S. N. Banerjee 
àíZ H«$. 1 : nÌH$ma åhUyZ Amnbo H$V©ì` ~OmdÊ`m_wio 

Vwê§$Jdmg ^moJmdm bmJUmao n{hbo ^maVr` H$moU ? 
1) XmXm^mB© Zm¡amoOr 2) bmoH$_mÝ` {Q>iH$ 
3) Jmonmi H¥$îU JmoIbo 4) Eg. EZ. ~°ZOu 

Question no. 2 : Match list I with list II and select 
the correct answer using the codes given in the 
alternatives. 
List I (Tiger Reserves)           List II (State)  
A. Bandipur  1. Arunachal Pradesh 
B. Simlipal  2. Uttar Pradesh 
C. Namdapha  3. Karnataka 
D. Dudhwa  4. Orissa 
àíZ H«$. 2 : ñV§^ 1 d ñV§^ 2 `m§À`mVrb `mo½` OmoS>çm§Mm JQ> 

n`m©`m§_YyZ AmoiIm. 

  ñV§^ 1 (ì`mK« àH$ën)     ñV§^ 2 (amÁ`) 

 A. ~§{Xnya  1. Aê$UmMb àXoe 

 B. {g_brnmb  2. CÎma àXoe 
 C. Zm_S>m\$m  3. H$Zm©Q>H$ 
 D. XwYdm  4. Amo[agm 
 1) A - 1,  B -  2,   C -  3,   D - 4  
 2) A - 3,  B -  4,   C -  1,   D - 2   
 3) A - 4,  B -  3,   C -  2,   D - 1 
 4) A - 2,  B -  1,   C -  4,   D - 3 
Question no. 3 : If there were five Fridays in 
February of 2008, then in the year 2012 which day 
will appear five times in February ? 
 1) Monday  2) Tuesday 
 3) Thursday 4) Wednesday 
àíZ H«$. 3 : Oa 2008 gmbr \o$~«wdmar _{hÝ`mV 5 ewH«$dma 
hmoVo Va 2012 gmbr \o$~«wdmar _[hÝ`mV H$moUVm dma 5 doim 
`oB©b ? 

1) gmo_dma 2) _§Jidma  3) Jwédma     4) ~wYdma 
Question no. 4 : In which medical treatment, 
principles of osmosis are involved ? 
 1) blood transfusion 2) bypass surgery 
 3) dialysis  4) artificial breathing 
àíZ H«$. 4 : Imbrbn¡H$s H$moUË`m d¡ÚH$s` CnMma nÜXVrV 
gyú_emofUmÀ`m VÎdm§Mm dmna hmoVmo ? 

1) aŠV g§H«$_U 2) ~m`nmg eñÌ{H«$`m 
3) S>m`{b{gg 4) H¥${Ì_ ídmgmoÀN>dmg 

Question no. 5 : ............. is acting as apex 
institution to fulfil financial needs in the rural areas. 
 1) R. B. I.       2) S. B. I. 
 3) District co. op. Bank    4) NABARD 
àíZ H«$. 5 : J«m_rU ^mJmVrb {dÎmr` JaOm nyU© H$aUmar 
............ hr {eIa g§ñWm Amho. 

1) [aPd© ~±H$ Am°\$ B§{S>`m    2) ñQ>oQ> ~±H$ Am°\$ B§{S>`m 
3) {Oëhm _Ü`dVu ghH$mar ~±H$               4) Zm~mS>© 

Question no. 6 : According to the Constitution of  
India, a new All India service can be instituted with 
the initiative taken by .......... 
 1) The Rajya Sabha.  
 2) The Lok Sabha.  
 3) The Inter-State council.  
 4) More than 2/3 of the states.  
àíZ H«$. 6 : ^maVr` g§{dYmZmZwgma ZdrZ A{Ib ^maVr` 

godm .......... À`m nwT>mH$mamZo {Z_m©U Ho$br OmD$ eH$Vo. 

1) amÁ`g^o                  2) bmoH$g^o 

3) Am§VaamÁ` n[afXo       4) 2/3 nojm OmñV amÁ`m§ 
Question no. 7 : Which of the following alphabets 
represents Sudan in the following map ? 

 

 

 

 

 

 

 

àíZ H«$. 7 : darb ZH$memV gwXmZ Xe©{dUmao B§J«Or _wimja 
H$moUVo ? 
 1) A 2) B 3) D 4) C 
Question no. 8 : How many squares are there on a 
chess board ? 

àíZ H«$. 8 : ~wpÜX~imÀ`m nQ>mda {H$Vr Mm¡ag AgVmV ? 
 1) 64 2) 168 3) 204 4) 256 
Question no. 9 : Which Indian ruler conquered 
Java and Sumatra ? 
 1) Rajendra Chola I  
 2) Rajraja Chola I 
 3) Samudra Gupta  
 4) Gautamiputra Satakarni 
àíZ H«$. 9 : H$moUË`m ^maVr` amOmZo Omdm d gw_mÌm qOH$bo? 

1) amO|Ð Mmobm 1 2) amOamOm Mmobm 1 

3) g_wÐ Jwá  4) Jm¡V_rnwÌ gmVH$Uu 

Question no. 10 : Match List I with List II and 
select the correct answer using the codes given in 
the alternatives : 

List I : Personalities               List II : Fields 
A. Jimmy Wales      1. Google 

B. Eric Schmidt      2. Wikipedia 

C. Biz stone       3. Facebook 

D. Mark Zukerberg      4. Twitter  

 1) A - 1,  B -  2,   C -  3,   D - 4  

 2) A - 4,  B -  3,   C -  2,   D - 1 
 3) A - 3,  B -  4,   C -  1,   D - 2 

 4) A - 2,  B -  1,   C -  4,   D - 3 

A B 

C 

D 
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àíZ H«$. 10 : ñV§^ 1 d ñV§^ 2 `m§À`mVrb `mo½` OmoS>çm§Mm 

JQ> n`m©`m§_YyZ AmoiIm. 

   ñV§^ 1 (ì`ŠVr) ñV§^ 2 (H$m`©joÌ) 

 A. {O_r doëg  1. JyJb 

 B. E[aH$ pí_S²>Q> 2. {d{H${n{S>`m 

 C. {~P² ñQ>moZ  3. \o$g~wH$ 

 D. _mH©$ PwHo$a~J© 4. pìQ>Q>a 
 1) A - 1,  B -  2,   C -  3,   D - 4  
 2) A - 4,  B -  3,   C -  2,   D - 1 
 3) A - 3,  B -  4,   C -  1,   D - 2 
 4) A - 2,  B -  1,   C -  4,   D - 3 
Question no. 11 :  ‘Garibi Hatao’ slogan was given 
in ........... five year plan. 
 1) third 2) fourth 3) fifth 4) sixth 
àíZ H«$. 11 : ‘J[a~r hQ>md’ hr KmofUm ............... n§Mdm{f©H$ 

`moOZoV XoÊ`mV Ambr.  

1) {Vgè`m 2) Mm¡Ï`m 3) nmMì`m      4) ghmì`m 
Question no. 12 :  Which statements amongst the 
following is/are not true about the stem cells ? 
a) They are not specialised. 
b) They can divide and renew themselves for a  
     longer period. 
c) They are found only in the embryonic stage. 
d) None of the above. 
 1) a, b and c 2) a and b 
 3) b and d  4) c only 
àíZ H«$. 12 : gm_mÝ` noerg§X^m©V Imbrbn¡H$s H$moUVo/Vr 
{dYmZ/Zo gË` Zmhr/V ? 

a) Ë`m d¡{eîQ>çnyU© ZgVmV. 
b) Ë`m ñdV:Mo {d^mOZ Am{U ZyVZrH$aU OmñV  
    H$mbmdYrn`ªV H$ê$ eH$VmV. 
c) Ë`m Ho$di ^¥UmdñWoV AmT>iVmV. 

d) darbn¡H$s H$moUVohr Zmhr. 
1) a, b  Am{U c 2) a Am{U b 

3) b Am{U d  4) \$ŠV c 
Question no. 13 : In which part of India maximum 
bio-diversity is found ?  
 1) Purvanchal 2) Great Indian desert 
 3) Karnataka plateau 4) Gangetic plain 
àíZ H«$. 13 : ^maVmVrb H$moUË`m joÌm_Ü`o gdm©V OmñV 

O¡d{d{dYVm AmT>iVo ? 

1) nydmªMb  2) ^maVr` _hmdmid§Q> 

3) H$Zm©Q>H$ nR>ma 4) J§JoMo Imoao 
Question no. 14 : At the grass root level of 
Panchayat raj institutions, Gramsabha consists of 
.......... 
 1) entire population of the village. 
 2) persons registered in the electoral rolls of  
          the village. 
 3) all adults in the village. 
 4) all of the above 

àíZ H«$. 14 : n§Mm`VamO ì`dñWoVrb gdm©V eodQ>À`m 

nmVirdarb J«m_g^oV .............. Mm g_mdoe AgVmo. 

1) JmdmVrb gd© bmoH$m§ 

2) JmdmVrb _VXma `mXrV Zmd Agboë`m _VXmam§ 

3) JmdmVrb gd© àm¡T> ì`ŠVr§  

4) darbn¡H$s gd©  
Question no. 15 : The paintings of Ajanta depict 
the stories of ...... 
 1) Jataks  2) Ramayana 
 3) Mahabharata 4) Panchatantra 
àíZ H«$. 15 : AO§R>m `oWrb {MÌo ............. À`m H$Wm àX{e©V 

H$aVmV. 

1) OmVH$m  2) am_m`Um 

3) _hm^maVm  4) n§MV§Ìm 
Question no. 16 : The five year plans are approved 
by ............ 
 1) Planning Commission. 
 2) The Council of Ministers. 
 3) National Development Council. 
 4) Public Accounts Committee. 
àíZ H«$. 16 : n§Mdm{f©H$ `moOZm§Zm ............. H$Sy>Z _mÝ`Vm 
{Xbr OmVo. 

1) {Z`moOZ _§S>im 2) _§Ìrn[afXo 

3) amîQ́>r` {dH$mg n[afXo 4) bmoH$boIm g{_Vr 
Question no. 17 : Which strain of virus causes bird 
flue ? 

àíZ H«$. 17 : Imbrbn¡H$s H$moUË`m àH$maÀ`m {dfmUy§_wio       
‘~S>© âby’ hmoVmo ? 
 1) H2N2 2) H3N1 3) H1N4 4) H5N1 

Question nos. 18 and 19 : Numbers are written 
according to a certain rule. Identify the rule and by 
applying the same rule, determine the number at the 
question mark ?  

àíZ H«$. 18 Am{U 19 : H$mhr {Z`_mZwgma g§»`m {b{hë`m 

AmhoV. Vmo {Z`_ AmoiIm d Ë`mM {Z`_mZwgma àíZ{MÝhmÀ`m 
OmJr H$moUVr g§»`m `oB©b Vo R>adm. 
18.  
 
 
 
 
 
 1) 13 2) 26 3) 14 4) 33 
19.  
 
 
 
 
 
 
 1) 12 2) 09 3) 18 4) 08 

12 
18 

38 

51 

37 
25 

79 

325 

102 

119 

9 
15 

27 

26 

? 

32 
2 

128 

64 
4 

256 
16 ? 
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Question no. 20 : Match list I with list II and select 
the correct answer using the codes given in the 
alternatives. 
   List I (Author)                    List II  (Book)  
A. Arvind Adiga            1. The Inheritance of Loss 
B. Arundhati Roy          2. The White Tiger  
C. Kiran Deasi                 3. Midnight’s Children 
D. Salman Rushdie          4. God of Small Things 

àíZ H«$. 20 : ñV§^ 1 d ñV§^ 2 `m§À`mVrb `mo½` OmoS>çm§Mm 

JQ> n`m©`m§_YyZ AmoiIm. 

   ñV§^ 1 (boIH$)      ñV§^ 2 (nwñVH$) 

 A. AaqdX A{S>Jm 1. {X BZho[aQ>Ýg Am°\$ bm°g 

 B. Aê§$YVr am°`> 2. {X ìhmBQ> Q>m`Ja 

 C. {H$aU XogmB© 3. {_S>ZmBQ>g² {MëS´>oZ  

 D. gb_mZ aeXr 4. Jm°S> Am°\$ ñ_m°b qW½O 
 1) A - 3,  B -  2,   C -  1,   D - 4  
 2) A - 2,  B -  1,   C -  3,   D - 4   
 3) A - 2,  B -  4,   C -  1,   D - 3 
 4) A - 1,  B -  2,   C -  3,   D - 4 
Question no. 21 : The British, for the first time, 
conceded the demand for partition of India into two 
parts under ........  
 1) Cabinet Mission plan. 
 2) Cripps Mission plan. 
 3) Simla Pact of 1945. 
 4) Mountbatten plan.  
àíZ H«$. 21 : {~«{Q>em§Zr gd©àW_ ^maVmMr XmoZ ^mJmV 
{d^mJUr H$aÊ`mMr _mJUr .......... _Ü`o _mÝ` Ho$br. 

1) H°${~ZoQ> {_eZ `moOZo     2) {H«$ßg {_eZ `moOZo 

3) 1945 À`m {g_bm H$amam   4) _mD§$Q>~°Q>Z `moOZo 
Question no. 22 : àíZ H«$. 22 :  
If/Oa TRUCK = 146, CAR = 44, then/Va BUS = ? 
 1) 86 2) 84 3) 74 4) 96 
Question no. 23 : àíZ H«$. 23 :  
If/Oa A + B + C = 6 and R–O = 3 then / Va I ×D = ? 
 1) 36 2) 13 3) 40 4) 44 
Question no. 24 : Which of the following rivers is 
a distributary ?  
 1) Tista  2) Hoogali  
 3) Chambal  4) Sabarmati 
àíZ H«$$. 24 : Imbrbn¡H$s H$moUVr ZXr {dV[aH$m Amho >? 

1) {VñVm 2) h wJir 3) M§~i      4) gm~a_Vr 
Question no. 25 : Which of the following 
statements are true about Raja Rammohan Roy ? 
1) His book on Christianity incorporated the moral 

spiritual precepts of Jesus, as well as, narrations 
of miracles. 

2) He defended the Vedanta philosophy from the 
ignorant attacks of the Christians.  

3) In the meeting of the Brahmo Samaj he allowed 
the Vedas to be read by all non-brahmins.  

4) He incorporated the best teachings of other 
religions as well.  

 1) 1, 2 and 3 2) 3 and 4 
 3) 2, 3 and 4 4) 1, 2 and 4 
àíZ H«$$. 25 : amOm am__mohZ am` `m§À`m~Ôb Imbrbn¡H$s 

H$moUVr {dYmZo gË` AmhoV>? 

1) Ë`m§À`m {¼ñVY_m©darb nwñVH$mV `oeyMo Z¡{VH$ AÜ`m{Ë_H$ 

Ñï>rH$moZ VgoM M_ËH$mamÀ`m dU©ZmMm A§V^m©d Amho. 

2) Ë`m§Zr d¡{XH$ VÎdkmZmMo {¼íMZm§À`m AkmZr 

hëë`m§{dê$ÜX g_W©Z Ho$bo. 

3) ~«måhmo g_mOmÀ`m g ôV ~«måhUoVa dJm©bm doXm§À`m nR>UmMo 

A{YH$ma {Xbo. 

4) Ë`m§Zr BVa Y_m©À`m CÎm_ {eH$dUtMm A§V^m©d Ho$bm. 

1) 1, 2 Am{U 3 2) 3 Am{U 4 

3) 2, 3 Am{U 4 4) 1, 2 Am{U 4 

Question no. 26 : Which of the following sectors is 
attracting the highest FDI ? 
 1) Electrical equipments 
 2) Information Technology 
 3) Telecommunication 
 4) Transportation 
àíZ H«$. 26 : Imbrbn¡H$r H$moUË`m joÌmV OmñVrV OmñV 
àË`j naH$s` Jw§VdUyH$ AmH${f©V hmoV Amho ? 

1) BbopŠQ́>H$b gmYZo 2) _m{hVr V§ÌkmZ 

3) Xyag§Mma  4) dmhVyH$ 

Question no. 27 : Modern Periodic table is a result 
of combination of Mendeleev’s theory and ......... 
 1) Relativity theory.  
 2) Electronic configuration of atom. 
 3) Bohr’s atomic theory. 
 4) Quantum theory. 
àíZ H«$. 27 : AmYw{ZH$ AmdV©gmaUr åhUOo _|S>o{bdMr 
CnnÎmr Am{U ............ À`m g§`moJrH$aUmMo \${bV hmo`. 

1) gmnojVoMr CnnÎmr  

2) AUw_Yrb BboŠQ´>m°ZMo g§ê$nU 

3) ~mohaMr AUw CnnÎmr 

4) nw§O`m_r CnnÎmr 

Question no. 28 : Consider the following 
statements regarding the Constitution.   
A) Directive principles of state policy was derived 

from Canadian Constitution.  
B) India as a union of states with greater powers to 

the union was derived from Australian 
Constitution.  

Which of the above statement/s is / are correct ? 
 1) Only A  2) Only B 
 3) both A and B 4) Neither A nor B 
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àíZ H«$$. 28 : g§{dYmZmg§X^m©Vrb Imbrb {dYmZm§Mm {dMma 

H$am. 

A) amÁ`mMr YmoaU {ZX}eH$ VÎdo hr H°$ZS>mÀ`m g§{dYmZm_YyZ  

KoÊ`mV Ambr AmhoV. 

B) H|$Ðmbm OmñV A{YH$ma AgUmam ^maV hm amÁ`m§§Mm g§K 

Amho, ho VÎd Am°ñQ´>o{b`mÀ`m g§{dYmZm_Yy>Z KoÊ`mV Ambo 

Amho. 

darbn¡H$s H$moUVo {dYmZ / Zo ~amo~a Amho / V ? 

  1) \$ŠV A  2) \$ŠV B 

3) XmoÝhr A d B 4) A d B XmoÝhr ZmhrV 
Question no. 29 : In the adjoining figure  
m∠A + m∠B + m∠C + m∠D + m∠E = ? 
 
 
 
 
 
 
 
àíZ H«$$. 29 : darb AmH¥$VrVrb  
m∠A + m∠B + m∠C + m∠D + m∠E = ? 
 1) 180o 2) 270o 3) 135o 4) 300o 

Question no. 30 : Diamond is the hardest material 
because of .......... 
 1) two dimensional carbon network. 
 2) three dimensional carbon network. 
 3) catenation power. 
 4) none of the above  
àíZ H«$$. 30 : {ham gdm©V H$R>rU AgVmo H$maU ........ 

1) H$m~©ZMo {Û{_Vr` Omio  

2) H$m~©ZMo {Ì{_Vr` Omio  

3) aÁOw~§YZ j_Vm 

4) darbn¡H$s EH$hr Zmhr 
Question no. 31 : Which of the following 
statements are correct with regard to the Indian 
National Army (INA) ? 
1) On 15 July 1942, the INA was formed as an 

organised body of troops.  
2) Capt. Mohan Singh became the commanding 

officer of the INA. 
3) Those who faced the INA trials were - Capt. 

Mohan Singh, Prem Sahgal, Shah Nawaz and  
G. K. Dillon. 

 1) 1 and 2  2) 2 and 3 
 3) 1 and 3  4) All of the above 
àíZ H«$$. 31 : Imbrbn¡H$s H$moUVr {dYmZo ^maVr` amîQ´>r` 

g¡Ý`m (INA) À`m g§X^m©V ~amo~a AmhoV >? 

1) 15 Owb¡ 1942 bm Am`. EZ. E. EH$ goZmnWH$ åhUyZ 

àñWm{nV H$aÊ`mV Ambo. 

2) H°$. _mohZ qgJ ho Am`. EZ. E. Mo AË`wÀM A{YH$mar Pmbo. 

3) Am`. EZ. E. À`m Mm¡H$erg gm_moao Omdo bmJUmao         

H°$. _mohZqgJ, ào_ ghJb, emhZdmP Am{U Jw. Ho$. {Xëhm± 

ho hmoVo. 

1) 1 Am{U 2  2) 2 Am{U 3 

3) 1 Am{U 3  4) darb gd© 
Question no. 32 : What is the average temperature 
of earth’s atmosphere ? 

àíZ H«$. 32 : n¥ÏdrÀ`m dmVmdaUmMo gamgar Vmn_mZ {H$Vr 

Amho ? 
 1) 273 K 2) 298 K 3) 288 K 4) 310 K 
Question no. 33 : In an examination, 30% of the 
students fail in Maths, 25% fail in English and 15% 
in both. What is the percentage of students passing 
in both the subjects ? 

àíZ H«$$. 33 : EH$m narjoV 30% {dÚmWu J{UVmV Zmnmg 

Pmbo, 25% {dÚmWu B§J«OrV Zmnmg Pmbo Am{U 15% 

{dÚmWu XmoÝhr {df`mV Zmnmg Pmbo Va XmoZhr {df`mV CÎmrU© 

Pmboë`m {dÚmÏ`mªMr Q>¸o$dmar {H$Vr ? 
 1) 45% 2) 55% 3) 40% 4) 60% 
Question no. 34 : “Dhyan Chand Award” is related 
to which of the following sports ? 
 1) Hockey  2) Foot Ball 
 3) Base Ball 4) Golf 
àíZ H«$. 34 : Ü`mZM§X nm[aVmo{fH$ Imbrbn¡H$s H$moUË`m 

Ioimer g§~§{YV Amho ? 

1) hm°H$s 2) \w$Q>~m°b 3) ~og~m°b 4) Jmoë\$ 
Question no. 35 : The elections to the Constituent 
Assembly were held on the basis of ...... 
 1) universal adult franchise. 
 2) equal franchise. 
 3) communal franchise. 
 4) restricted franchise. 
àíZ H«$. 35 : g§{dYmZg^oÀ`m (KQ>Zm n[afX) {ZdS>UwH$m 

.......... À`m AmYmamda KoÊ`mV Amë`m. 

1) d¡{ídH$ àm¡T>_Vm{YH$mam     2) g_mZ _Vm{YH$mam 

3) O_mVdmXr _Vm{YH$mam     4) {Z~ª{YV _Vm[YH$mam 
Question no. 36 : Who said, “The congress is 
tottering to its fall and one of my greatest ambitions 
while in India, is to assist it to a peaceful demise”? 
 1) Lord Dufferin 2) Lord Mayo 
 3) Lord Minto 4) Lord Curzon  
àíZ H«$$. 36 : “H$m±J«ogMr dmQ>Mmb AY:nVZmH$S>o gwê$ Pmbr 

Amho Am{U _mPr ^maVmV Agon`ªV gdmªV _moR>r _hÎdmH$m§jm 

hrM Agob H$s Ë`mMm A§V em§VnUo hmoÊ`mgmR>r _XV H$aUo” 
Ago H$moU åhUmbo ?  

1) bm°S>© S>\$arZ 2) bm°S>© _o`mo 

3) bm°S>© q_Q>mo  4) bm°S>© H$P©Z 

A 

B 

C 

D 

E 
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Question no. 37 : The districts having female ratio 
higher than the male number are indicated by......  
 1) 1 and 2 2) 2 and 3 3) 1 and 4 4) 1 and 3 
 

 

 

 

 

 

 
 

àíZ H«$$. 37 : pñÌ`m§Mo à_mU nwê$fm§nojmhr A{YH$ Agboë`m 

{Oëøm§Mo H«$_m§H$ .........  
1) 1 Am{U 2     2) 2 Am{U 3   3) 1 Am{U 4  4) 1 Am{U 3 
Question no. 38 : Which of the following policies, 
introduced by the Government to shed the load  of 
excess workers in the public sector, has succeeded ? 
 1) Exit policy 
 2) Voluntary retirement scheme 
 3) Compulsory retirement scheme 
 4) Lowering the retirement age 
àíZ H«$$. 38 : gmd©O{ZH$ joÌmVrb OmXm H$m_Jmam§Mm ~moOm 
H$_r H$aÊ`mgmR>r gaH$maZo gwM{dbobr Imbrbn¡H$s H$moUVr 
`moOZm `eñdr Pmbr ?  

1) ì`dgm` ~§X H$aUo 2) ñdoÀN>m {Zd¥Îmr `moOZm 

3) gŠVrMr {Zd¥Îmr `moOZm 4) {Zd¥ÎmrMo d` H$_r H$aUo 
Question no. 39 : If a pair of dice is thrown 
together, what is the probability of getting a total of 
7 ? 

àíZ H«$$. 39 : Oa XmoZ \$mgo EH$mMdoir Q>mH$bo Va XmoÝhr 

\$mem§darb A§H$m§Mr ~oarO 7 AgÊ`mMr g§^mì`Vm {H$Vr ?  
 1) 1/6 2) 7/16 3) 5/36 4) 7/36 
Question no. 40 : Consider the following 
statements : 
A) Haryana, Punjab and Chandigarh (Union 

Territory) have a common High Court.  
B) National Capital Territory of Delhi has a High 

Court of its own.  
Which of the above statement/s is / are correct ? 
 1) ‘A’ only   2) ‘B’ only 
 3) neither A nor B 4) Both A and B 
àíZ H«$$. 40 : Imbrb {dYmZm§Mm {dMma H$am. 

A) h[a`mUm, n§Om~ Am{U M§XrJT>> (H|$Ðem{gV àXoe) `mgmR>r 
EH$M Cƒ Ý`m`mb`  Amho. 

~) amîQ́>r` amOYmZr joÌ ({X„r) bm ñdV:Mo Cƒ Ý`m`mb` 

Amho. 

darbn¡H$s H$moUVo {dYmZ / Zo ~amo~a Amho / V ? 
1) \$ŠV A  2) \$ŠV ~ 
3) XmoÝhr A d ~ Zmhr 4) A d ~ XmoÝhrhr 

Question no. 41 : How many members of Lok 
Sabha are elected from Union territories ? 
 1) 18  2) 19 
 3) Not more than 25 4) Not more than 20 
àíZ H«$$. 41 : H|$Ðem{gV àXoemVyZ bmoH$g^ogmR>r {H$Vr 

gXñ` {ZdS>bo OmVmV ?  

1) 18  2) 19 

3) 25 nojm OmñV Zmhr 4) 20 nojm OmñV Zmhr 

Question no. 42 : Import of which of the following 
promotes maximum economic growth of a country? 
 1) capital goods 2) consumer goods 
 3) luxury goods 4) food items 
àíZ H«$$. 42 : H$moUË`m dñVy§À`m Am`mVr_wio XoemÀ`m Am{W©H$ 

{dH$mgmbm OmñVrV OmñV MmbZm {_iVo ?  

1) ^m§S>dbr dñVy 2) Cn^mo½` dñVy 

3) M¡ZrÀ`m dñVy 4) AÞ-YmÝ` 

Question no. 43 : What is the maximum 
permissible strength of the legislative assembly of 
any state ? 
 1) 400 members 2) 425 members 
 3) 500 members 4) 545 members 
àíZ H«$$. 43 : Hw$R>ë`mhr amÁ`mÀ`m {d{Y_§S>imMr H$_mb 

{ZYm©[aV gXñ` g§»`m {H$Vr R>a{dÊ`mV Ambr Amho ?  

1) 400 gXñ` 2) 425 gXñ` 

3) 500 gXñ` 4) 545 gXñ` 

Question no. 44 : Who is the author of the book, 
‘The Idea of Justice’? 
 1) Deepak Parekh 2) Amitav Ghosh 
 3) Amartya Sen 4) Mohmmad Yunus 
àíZ H«$$. 44 : ‘{X Am`{S>`m Am°\$ OpñQ>g’ `m nwñVH$mMo 

boIH$ H$moU AmhoV ?  

1) XrnH$ nmaoI 2) A{_Vm^ Kmof 

3) A_Ë`© goZ 4) _mohå_X `wZwg 

Question no. 45 : Consider the following 
statements : 
1) Jotiba Phule founded the Poona Sarvajanik 

sabha. 
2) Jotiba Phule believed that education of the 

masses would promote the process of Nation 
building. 

3) Jotiba Phule also moved in the trade unions. 
4) Narayan Meghaji Lokhande, a trade union 

activist was a prominent colleague of Jotiba 
Phule. 

Which of these are correct ? 
 1) 1, 2, 3 and 4 2) 2, 3 and 4 
 3) 1, 2 and 4 4) 1 and 2 
 

1 

2 
3 

4 

5 
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àíZ H«$$. 45 : Imbrb {dYmZo bjmV ¿`m : 

1) Omo{V~m \w$bo `m§Zr nwUo gmd©O{ZH$ g^oMr ñWmnZm Ho$br. 

2) gdmªZm {ejU {_iUo hr amîQ´> C^maUrÀ`m à{H«$`obm 

CÎmoOZ XoUmao Amho Aer Omo{V~m \w$bo `m§Mr YmaUm hmoVr. 

3) Omo{V~m \w$bo `m§Zr H$m_Jma g§KQ>Zo_Ü`ohr H$m`© Ho$bo. 

4) Zmam`U _oKmOr bmoI§S>>o ho H$m_Jma g§KQ>ZoMo H$m`©H$V} 

Omo{V~m \w$ë`m§Mo _w»` ghH$mar hmoVo. 

darbn¡H$s gË` {dYmZo H$moUVr ? 

1) 1, 2, 3 d 4 2) 2, 3 d 4 

3) 1, 2 d 4  4) 1 d 2 
Question no. 46 : ‘Usain Bolt’ is related to which 
of the following sport event ? 
 1) Athletics 2) Swimming 
 3) High - Jump 4) Poll - Volt 
àíZ H«$$. 46 : ‘CgoZ ~moëQ>’ hm Imbrbn¡H$s H$moUË`m Ioimer 

{ZJ{S>V Amho ?  

1) A°Wbo{Q>Šg 2) ObVaU 

3) C§M CS>r  4) ~m§~y CS>r 
Question no. 47 : Which of the following is the 
correct sequence of the stations from Kolkata to 
Mumbai rail route ?   
 1) Nagpur, Bhandara, Raipur, Jamshedpur 
 2) Bhandara, Nagpur, Raipur, Jamshedpur 
 3) Jamshedpur, Raipur, Bhandara, Nagpur 
 4) Raipur, Jamshedpur, Nagpur, Bhandara 
àíZ H«$$. 47 : Imbrbn¡H$s H$mobH$Ë`mH$Sy>Z _w§~B©H$S>o `oVmZm 
aoëdo ñWmZH$m§Mm AMyH$ H«$_ H$moUVm ?  

1) ZmJnya, §̂S>mam, am`nya, O_eoXnya 

2) ^§S>mam, ZmJnya, am`nya, O_eoXnya 

3) O_eoXnya, am`nya, §̂S>mam, ZmJnya 

4) am`nya, O_eoXnya, ZmJnya, §̂S>mam 
Question no. 48  : The Binary system of 0 and 1 
used in computers is based on ....... 
 1) Linear Algebra 2) Boolean Algebra 
 3) Numerical Algebra 4) Basic Arithmatics 
àíZ H«$$. 48 : g§JUH$mV dmnabr OmUmar 0 Am{U 1 Mr 

{Û_mZ nÜXVr ................ `mda AmYm[aV Amho.  

1) aofr` ~rOJ{UV 2) ~wbr`Z ~rOJ{UV 

3) A§H$s` ~rOJ{UV 4) _yb^yV A§H$J{UV 
Question no. 49 : Prof. Dr. M. S. Swaminathan  is 
associated with ...... revolution. 
 1) Green 2) Blue 3) White 4) Silver 
àíZ H«$$. 49 : àm. S>m°. E_. Eg. ñdm_rZmWZ H$moUË`m H«$m§Vrer 

g§~§{YV AmhoV ?  

1) h[aVH«$m§Vr  2) {Zir  H«$m§Vr 

3) ídoV/Ydb H«$m§Vr 4) M§Xoar H«$m§Vr 

Question no. 50 : If a number A is divided by 7, 
the remainder is 5, then how much will be the 
remainder if the number 2A is divided by 7  ? 
àíZ H«$$. 50 : A `m g§»`obm 7 Zo ^mJbo AgVm ~mH$s 5 

CaVo Va, 2A `m g§»`obm 7 Zo ^mJbo AgVm ~mH$s {H$Vr 

Caob ?  
 1) 10 2) 3 3) 4 4) 1 
Question no. 51 : The inclusion of fundamental 
duties in the Constitution was welcomed ......  
 1) unanimously.  
 2) by the opposition parties. 
 3) by the ruling party. 
 4) by the bureaucratic structure. 
àíZ H«$$. 51 : g§{dYmZmVrb _yb^yV H$V©ì`mÀ`m g_mdoemMo 

.......... ñdmJV H$aÊ`mV Ambo. 
1) gdm©Zw_Vo  2) {damoYr njm§H$Sy>Z 
3) gÎmmYmar njmH$Sy>Z 4) gZXr ZmoH$aemhr H$Sy>Z 

Question no. 52 : If AZ is multiplied by BZ, then 
which of the following could be the answer ? 
àíZ H«$$. 52 : AZ `m g§»`obm BZ `m g§»`oZo JwUbo AgVm 

Imbrbn¡H$s H$moUVo CÎma Agy eHo$b ?  
 1) 1392 2) 875 3) 2298 4) 2917 
Question no. 53 : Outcome budget of Government 
of India introduced from 2005 is a joint effort of the 
Finance Ministry and ........... 
 1) Finance Commission. 
 2) Expenditure Commission. 
 3) Commerce Ministry. 
 4) Planning Commission. 
àíZ H«$$. 53 : gZ 2005 nmgyZ ^maV gaH$maMm 
AW©g§H$ën, {dÎm _§Ìmb` Am{U ............. g§`wŠVnUo V`ma 
H$aVmV. 

1) {dÎmr` Am`moJ 2) IM© Am`moJ 
3) dm{UÁ` _§Ìmb` 4) {Z`moOZ _§S>i 

Question no. 54 : The leading buyers of Indian 
exports are ........... 
 1) U.S.A., U.K., Japan and Germany. 
 2) Bangladesh, Pakistan, Sri Lanka, England. 
  3) Japan, Germany, Pakistan, U.S.A. 
 4) U.K., U.S.A., Sri Lanka, Pakistan.  
àíZ H«$$. 54 : ^maVmÀ`m {Z`m©Vr_Yrb à_wI Xoe ........... ho 
AmhoV. 

1) A_o[aH$m, B§½b§S>, OnmZ, O_©Zr 
2) ~m§JbmXoe, nm{H$ñVmZ, lrb§H$m, B§½b§S> 
3) OnmZ, O_©Zr, nm{H$ñVmZ, A_o[aH$m 
4) B§½b§S>, A_o[aH$m, lrb§H$m, nm{H$ñVmZ 

Question no. 55 : Which of the following works 
were translated by William Jones ?  
1) Arthashastra  2) Hitopdesha 
3) Gita Govind  4) Shakuntalam 
 1) 1, 2, 3 and 4 2) 2, 3 and 4 
 3) 2 and 4  4) only 2 
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àíZ H«$. 55 : {dë`_ OmoÝgZo Imbrbn¡H$s H$moUË`m J«§Wm§Mo 

^mfm§Va Ho$bo ? 

1) AW©emñÌ  2) {hVmonXoe    3) JrV JmoqdX   4) emHw§$Vb 

 1) 1, 2, 3 Am{U 4 2) 2, 3 Am{U 4 

 3) 2 Am{U 4  4) \$ŠV 2 

Question no. 56 : ‘Galileo’ is a system developed 
by .............. 
 1) The US   2) India 3) Russia 4) The EU 
àíZ H«$$. 56 : ............... Zo ‘J°bo{bAmo’ ZmdmMr `§ÌUm 

{dH$gV Ho$br. 

1) `w. Eg. 2) ^maV 3) a{e`m 4) B. `w. 

Question no. 57 : Ravindra Kelekar was awarded, 
the highest literary award - Jnanpith, for his 
writings in .............. language.  
 1) Kannada 2) Marathi 
 3) Konkani  4) Maithili 
àíZ H«$$. 57 : aqdÐ Ho$ioH$a `m§Zm ........... ^mfoVrb Ë`m§À`m 

{bImUmgmR>r gm{hË` joÌmVrb gdm}ƒ _mZbm OmUmam kmZnrR> 

nwañH$ma XoÊ`mV Ambm Amho. 

1) H$ÞS> 2) _amR>r 3) H$moH$Ur 4) _¡{Wbr 

Question no. 58 : Which of the following factors is 
most responsible for origin of monsoon ? 
 1) Movement of Earth. 
 2) Inter Tropical conversion zone. 
 3) Planetary winds. 
 4) Temperature of atmosphere.  
àíZ H«$. 58 : Imbrbn¡H$s H$moUVm KQ>H$ _mÝgyZÀ`m {Z{_©Vrg 

gdm©V OmñV H$maUr^yV Amho ? 

1) n¥ÏdrMr hmbMmb 

2) Am§VaCîU H${Q>~§Yr` H|$Ðm{^_wI nÅ>m 

3) J«hr` dmao 

4) dmVmdaUmMo Vmn_mZ 

Question no. 59 : “Kaling Prize” is awarded for 
excellence in which of the following fields ? 
 1) Sports  2) Economics  
 3) Social activities 4) Science 
àíZ H«$$. 59 : ‘H$qbJ nm[aVmo{fH$’ ho Imbrbn¡H$s H$moUË`m 

{df`mVrb nma§JVVogmR>r {Xbo OmVo ? 

1) Ioi  2) AW©emñÌ 

3) gm_m{OH$ H$m ©̀H«$_ 4) emñÌ 

Question no. 60 : Which among the following 
terms is not related to space communication ? 

àíZ H«$$. 60 : Imbrbn¡H$s H$moUVr g§km A§Vami 
XiUdiUmer g§~§{YV Zmhr ? 

 1) GPRS 2) GPS 3) GSLV 4) IRS 
 

Question no. 61 : Match list I with list II and select 
the correct answer using the codes given in the 
alternatives. 
List I (UN Agencies)             List II (Head quarters)  
A. ADB     1. Washington 
B. UNDP     2. Manila 
C. IMF     3. Geneva 
D. WHO     4. Vienna 

àíZ H«$$. 61 : ñV§^ 1 d ñV§^ 2 `m§À`mVrb `mo½` OmoS>çm 

Owidm. n`m©`mVrb {Xboë`m g§Ho$VmZwgma `mo½` CÎma {ZdS>m. 

ñV§^ 1 (Am§VaamîQ´>r` g§KQ>Zm)     ñV§^ 2 (_w»`mb`) 

 A. ES>r~r    1. dm°qe½Q>Z 

 B. `yZS>rnr    2. _{Zbm 

 C. Am`E_E\$    3. {OZoìhm 

 D. S>ãë`y EM Amo   4. pìhEÞm 

 1) A - 1,  B -  2,   C -  3,   D - 4  
 2) A - 2,  B -  4,   C -  1,   D - 3 
 3) A - 4,  B -  3,   C -  2,   D - 1 
 4) A - 3,  B -  1,   C -  4,   D - 2 
Question no. 62 : ‘Ex-Hand-in-Hand’ was a joint 
military training and exercise of which of the 
following countries ? 
 1) India and USA 2) India and Russia 
 3) India and China 4) India and England 
àíZ H«$$. 62 : ‘EŠg-h±S>-BZ-h±S>$’ hm g§`wŠV bîH$ar 
à{ejU d gamd H$moUË`m XmoZ Xoem§_Ü`o Ho$bm Jobm ? 

1) ^maV d A_o[aH$m 2) ^maV d a{e`m 

3) ^maV d MrZ 4) ^maV d B§½b§S> 

Question no. 63 : Who said, “The emergency 
powers of the president is a fruad on the 
Constitution ?” 
 1) K. M. Nambiar 2) K. M.Munshi 
 3) B. N. Rau 4) D. D. Basu 
àíZ H«$. 63 : ‘amîQ́>nVtMo AmUr~mUr {df`H$ A{YH$ma hr 

g§{dYmZmVrb \$gdUyH$ Amho’ Ago {dYmZ H$moUr Ho$bo ? 

1) Ho$. E_. Z§{~`ma 2) Ho$. E_. _w§er 

3) ~r. EZ. amd 4) S>r. S>r. ~gy 

Question no. 64 : Match list I with list II, and 
select the correct answer using the codes given in 
the alternatives. 
List I (Personalities)                List II (Fields)  
A. Nandlal Bose     1. Theater  
B. Tapan Sinha      2. History  
C. Habib Tanvir     3. Painting 
D. Ranjit Guha      4. Films 
 1) A - 1,  B -  2,   C -  3,   D - 4  
 2) A - 3,  B -  4,   C -  1,   D - 2 
 3) A - 4,  B -  3,   C -  2,   D - 1 
 4) A - 2,  B -  1,   C -  4,   D - 3 
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àíZ H«$$. 64 : ñV§^ 1 d ñV§^ 2 `m§À`mVrb `mo½` OmoS>çm§Mm 

JQ> n`m©`m§_YyZ AmoiIm. 

  ñV§^ 1 (ì`ŠVr)    ñV§^ 2 (joÌ) 

 A. Z§Xbmb ~mog    1. a§J^y_r 

 B. VnZ {gÝhm    2. B{Vhmg 

 C. h~r~ VÝdra    3. {MÌH$mar 

 D. aUOrV Jwhm    4. {MÌnQ> 
 1) A - 1,  B -  2,   C -  3,   D - 4  
 2) A - 3,  B -  4,   C -  1,   D - 2 
 3) A - 4,  B -  3,   C -  2,   D - 1 
 4) A - 2,  B -  1,   C -  4,   D - 3 
Question no. 65 : Water is filled in a container in 
such a manner that its volume doubles after every 5 
minutes. If it takes 30 minutes for the container to 
be full, in how much time will it be one-fourth full? 
 1) 7 mins. and 30 sec.  2) 10 mins. 
 3) 25 mins.   4) 20 mins. 
àíZ H«$. 65 : EH$m ^m§S>çmV Aem [aVrZo nmUr ^abo OmVo H$s 

Xa nmM {_{ZQ>mV Ë`mVrb nmÊ`mMo AmH$ma_mZ XwßnQ> hmoVo. Oa 

Vo ^m§S>o ^aÊ`mg AYm© Vmg bmJV Agob Va Vo EH$ MVwWmªe 

^aÊ`mg {H$Vr doi bmJob ? 
1) 7 {_{ZQ>o d 30 goH§$X 2) 10 {_{ZQ>o 
3) 25 {_{ZQ>o  4) 20 {_{ZQ>o 

Question no. 66 : Which of the following forms 
basis of rocket ?  
 1) Newtons second law of motion 
 2) Newtons third law of motion 
 3) Newtons law of Gravitation 
 4) Keplers law of planetary motion  
àíZ H«$$. 66 : Ap½Z~mUmMo CÈ>mU Imbrbn¡H$s H$emda 
AmYm[aV Amho ? 

1) Ý`yQ>ZMm J{V{df`H$ Xwgam {Z`_ 
2) Ý`yQ>ZMm J{V{df`H$ {Vgam {Z`_ 
3) Ý`yQ>ZMm Jwê$ËdmH$f©UmMm {Z`_ 
4) Ho$nbaMm J«hJmobr` J{V{df`H$ {Z`_ 

Question no. 67 : Match the following : 
 Country                 Sattelite launching vehicle 
A) U.S.A.         1) DF-5 
B) Russia         2) Delta - 2 
C) China         3) Arena - 5 
D) France         4) Cosmos - 3M 
àíZ H«$. 67 : OmoS>çm bmdm. 

    Xoe  CnJ«h àjonU `mZ 
A) `w. Eg. E.  1) S>r. E\$.-5 

B) a{e`m  2) S>oëQ>m - 2 

C) MrZ  3) EarZm - 5 

D) \«$mÝg  4) H$m°g_m°g - 3 E_. 
 1) A - 2,  B -  4,   C -  1,   D - 3  
 2) A - 4,  B -  2,   C -  1,   D - 3 
 3) A - 3,  B -  1,   C -  2,   D - 4 
 4) A - 1,  B -  3,   C -  4,   D - 2 

Question no. 68 : Consider the following 
statements : 
1. Under Pradhan Mantri Rozgar Yojana, the 

educated youth is provided with bank loans and 
government subsidy. 

2. Under Antodaya Anna Yojana, BPL population 
is provided food grains at subsidised rates. 

Which of the above statement/s is / are correct ? 
 1) 1 only  2) 2 only 
 3) Both 1 and 2 4) Neither 1 nor 2 
àíZ H«$. 68 : Imbrb {dYmZm§Mm {dMma H$am. 

1. àYmZ_§Ìr amoOJma `moOZo_Ü`o gw{e{jV Vê$Um§Zm ~±Ho$Mo 

H$O© d gaH$mar {dÎmghmæ` {_iVo. 

2. A§VmoX` AÞ `moOZo A§VJ©V, Xm[aX«ç aofoImbrb OZVobm 

AÞ-YmÝ` nwadR>m ñdñV XamZo Ho$bm OmVmo. 

darbn¡H$s H$moUVo / H$moUVr {dYmZ / {dYmZo gË` Amho / 

AmhoV ? 

1) \$ŠV 1               2) \$ŠV 2 

3) 1 d 2 XmoÝhrhr        4) 1 qH$dm 2 H$moUVohr Zmhr 
Question no. 69 : Identify the correct sequence of 
the crops in India in their increasing order of 
production. 
 1) Wheat - Rice - Pulses 
 2) Pulses - Wheat  - Rice 
 3) Pulses - Rice  - Wheat 
 4) Rice  - Wheat - Pulses  
àíZ H«$. 69 : Imbr {Xboë`m ^maVmÀ`m AÞ-YmÝ` 
CËnmXZmÀ`m MT>Ë`m loUrVrb `mo½` H«$_ AmoiIm. 

1) Jhy - Vm§Xyi - S>mir 

2) S>mir - Jhÿ - Vm§Xy>i 

3) S>mir - Vm§Xyi - Jhÿ 

4) Vm§Xyi - Jhÿ - S>mir 
Question no. 70 : Consider the following 
statements : 
A) According to 2001 Census, sex-ratio in India is 

933. 
B) Sex ratio in Maharashtra is better than that in 

Kerla. 
Which of the above statement/s is / are correct ? 
 1) A only  2) B only 
 3) Both A and B 4) Neither A nor B 
àíZ H«$. 70 : Imbrb {dYmZm§Mm {dMma H$am. 

A) 2001 À`m OZJUZoZwgma ^maVmVrb qbJ JwUmoÎma 933 

Amho. 

B) _hmamîQ´>mVrb qbJ JwUmoÎma Ho$ainojm A{YH$ Mm§Jbo Amho. 

darbn¡H$s H$moUVo {dYmZ / Zo ~amo~a Amho / V ? 

  1) \$ŠV A  2) \$ŠV B 

3) XmoÝhr A d B 4) A d B XmoÝhr Zmhr 
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Question no. 71 : Which of the following 
statements is incorrect about Sri Aurobindo ? 

1) He criticised the moderates in a series of 
articles, ‘New Lamps for the old’. 

2) He is referred to as the originator of 
‘Active Resistance’. 

3) He spiritualised Indian politics. 
4) ‘Savitri’, the longest poem in the 

English language was written by him.  
àíZ H«$$. 71 : lr AaqdXmo `m§À`m g§X^m©Vrb Imbrb H$moUVo 

{dYmZ MwH$sMo Amho ? 

1) Ë`m§Zr _dmim§da ‘d¥ÜXm§gmR>r Zdo {Xdo’ `m boI 
_mbo_YyZ Q>rH$m Ho$br. 

2) ‘gH«$s` à{VH$mamMo’ Ë`m§Zm OZH$ g_Obo OmVo. 

3) Ë`m§Zr ^maVr` amOH$maUmbm AÜ`mpË_H$ A{Yð>mZ 
{Xbo. 

4) ‘gm{dÌr’ hr B§J«Or_Yrb gdm©V _moR>r H${dVm 
Ë`m§Zr {b{hbr. 

Question no. 72 : ‘Cartagena protocol’ is related to 
.............. 
 1) sustainable development. 
 2) environmental degradation.  
 3) bio safety.  
 4) global warming.  
àíZ H«$. 72 : ‘H$mQ>o}{OZm àmoQ>moH$m°b’ ........... er g§~§{YV 
Amho. 

1) emídV {dH$mg 2) n`m©daUmMo AY:nVZ 

3) O¡dgwajm  4) OmJ{VH$ Vmn_mZd¥pÜX  
Question no. 73 : Which of the following alphabets 
represents the Dogger Bank fishing ground ? 

 

 

 

 

 

 

 

 

àíZ H«$. 73 : Imbrbn¡H$s H$moUË`m B§J«Or _wimjamZo S>m°Ja~±H$ 

_Ëñ`joÌ Xe©{dbobo Amho ? 
 1) A 2) B 3) C 4) D  
Question no. 74 : Find the median and mode 
respectively of the following data  

àíZ H«$. 74 : Imbrb gm_J«rMm _Ü`H$ d ~hwbH$ AZwH«$_o 

emoYm.  
11, 12, 11, 13, 11, 12, 14, 11, 13, 12. 

 1) 11, 12 2) 13, 11 3) 12, 11 4) 11, 12.5 

Question no. 75 : Which of the following is not a 
Central Government’s Tax ? 
 1) Income Tax  
 2) Agricultural Income Tax  
 3) Custom Duties 
 4) Service Tax 
àíZ H«$. 75 : Imbrbn¡H$s H$moUVm H$a H|$ÐgaH$maMm H$a 

Zmhr? 

1) CËnÞ H$a  2) eoVr CËnÞ H$a 

3) Am`mV {Z`m©V OH$mVr 4) godm H$a 
Question no. 76 : Who among the following 
decides whether a Bill is a  Money Bill or not ? 
 1) The Finance Minister 
 2) Director - General of Lok Sabha 
 3) The Prime Minister 
 4) The Speaker of the Lok Sabha 
àíZ H«$. 76 : Imbrbn¡H$s H$moU ho EImXo {dYo`H$ AW©{dYo`H$ 

Amho H$s Zmhr ho R>a{dVmV ? 

1) AW©_§§Ìr  2) bmoH$g^oMo _hmg§MmbH$ 

3) n§VàYmZ  4) bmoH$g^oMo g^mnVr 
Question no. 77 : Match list I with list II and select 
the correct answer using the codes given in the 
alternatives. 
  List I (Persons)                        List II  (Field)  
A. Sajjan Jindal    1. NASSCOM 
B. Harsh Pati Singhania    2. CII 
C. Som Mittal     3. FICCI 
D. Chandrajit Banerjee    4. ASSOCHAM 

àíZ H«$. 77 : ñV§^ 1 d ñV§^ 2 `m§_Yrb `mo½` OmoS>`m 
Owidm n`m©`mVrb {Xboë`m g§Ho$Vm§Zwgma ~amo~a CÎma {ZdS>m. 

 ñV§^ 1 (ì`pŠV)       ñV§^ 2 (joÌ) 

A. gÁOZ qOXmb  1) Z°ñH$m°_ 

B. hf©n{V qgKm{Z`m 2) gr. Am`. Am`. 

C. gmo_ {_Îmb                 3) {\$ŠH$s 

D. M§Ð{OV ~°ZOu  4) A°ñgmoH°$_   
 1) A - 1,  B -  2,   C -  4,   D - 3  
 2) A - 4,  B -  3,   C -  1,   D - 2 
 3) A - 3,  B -  4,   C -  2,   D - 1 
 4) A - 2,  B -  1,   C -  3,   D - 4 
Question no. 78 : A ray of light passing through a 
prism bends and splits into different colours. This is 
known as ....... 
 1) Dispersion 2) Diffraction 
 3) Refraction 4) Polarization 
àíZ H«$$. 78 : bmobH$mVyZ ([àP_) àH$me {H$aU Jobm AgVm 

diVmo Am{U Ë`mMo {Za{Zamù`m a§JmV {d^mOZ hmoVo `mbm 

......... åhUVmV. 

1) a§J n¥ÏWŠH$aU 2) {ddV©Z 

3) AndV©Z  4) Y«wdrH$aU 

A 
C 

D 

B 
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Question no. 79 : Who had taken the oath of Prime 
Ministership for the first time after Jawaharlal 
Nehru ? 
1) Lal Bahadur Shastri 2) Mrs. Indira Gandhi 
3) Morarji Desai 4) Gulzarilal Nanda 
àíZ H«$. 79 : Odmhabmb Zohê§$Z§Va n§VàYmZnXmMr enW 

gdm©V àW_ H$moUr KoVbr ? 
1) bmb~hmXya emñÌr 2) lr_Vr B§[Xam Jm§Yr 
3) _moamaOr XogmB© 4) JwbPmarbmb Z§Xm 

Question no. 80 : Which of the following 
components is not there in ‘Bharat Nirman’ project? 
 1) Rural Telephony       2) Irrigation 
 3) Rural Electrification     4) Drinking water 
àíZ H«$. 80 : ‘^maV {Z_m©U’ àH$ënmV Imbrbn¡H$s H$moUË`m 

KQ>H$mMm g_mdoe Zmhr ? 
1) J«m_rU Xyag§Mma {dH$mg       2) ObqgMZ 
3) J«m_rU {dÚwVrH$aU       4) no`Ob 

Question no. 81 : The Fohn and Chinuck winds 
blow in ............ region 
 1) Rockys and Alps  
 2) Darling valley and Colorado plateau 
 3) Islands of Hawaii and Tasmania 
 4) between Sudan and Egypt 
àíZ H«$$. 81 : \$m°Z Am{U {MZyH$ dmao dmhUmao àXoe ...... 
AmhoV.  

1) am°H$s d Amëßg²  
2) S>m{bªJ Imoao d H$mobmoa°S>mo nR>ma 
3) hdmB© d Q>mñ_m{Z`m ~oQ>o 
4) gwXmZ Am{U B{OßVÀ`m Xaå`mZ 

Question no. 82 : ‘Ferdinand de Lesseps’ is related 
to which of the following ? 
 1) Expedition to South Pole. 
 2) Suez Canal project. 
 3) Tennis player from France. 
 4) Panama Canal project. 
àíZ H«$. 82 : ‘\${S>©Zm§S> {S> bogoßg’ Imbrbn¡H$s H$emer 
{ZJ{S>V Amho ? 

1) X{jU Y«wdmdarb _mohr_ 
2) gwdoP H$mbì`mMm àH$ën 
3) \«$mÝgMm Q>o{Zg IoimSy> 
4) nZm_m H$mbì`mMm àH$ën 

Question no. 83 : Which of the following is not an 
automobile company ? 
 1) Nissan  2) Volkswagen  
 3) Renault  4) AIG 
àíZ H«$$. 83 : Imbrbn¡H$s H$moUVm _moQ>ma {Z{_©Vrer g§~§{YV 
CÚmoJ Zmhr ? 
1) {ZñgmZ  2) ìhmoëŠg d°JZ   3) aoZm°   4) E.Am`.Or. 
Question no. 84 : ‘Agakhan cup’ is associated with 
which of the following sports ? 
 1) Football  2) Hockey 
 3) Basket ball 4) Volley ball 

àíZ H«$$. 84 : ‘AmJmImZ MfH$’ hm Imbrb H$moUË`m Ioimer 

{ZJ{S>V Amho ? 

1) \w$Q>~m°b 2) hm°H$s  3) ~mñHo$Q>~m°b  4) ìhm°br~m°b 
Question no. 85 : A person uses glasses of power 
+2D. It is a ............ 
 1) convex lens of focal length 50 cm. 
 2) concave lens of focal length 50 cm. 
 3) convex lens of focal length 2 m. 
 4) concave lens of focal length 2 m. 
àíZ H«$. 85 : EH$m ì`pŠVÀ`m Mîå`mMm Z§~a +2D Amho. 

Ë`mÀ`m H$mMm ............  

1) 50 go§_r. Zm^r` A§VamÀ`m ~{hd©H«$ q^J AgVrb. 

2) 50 go§_r. Zm^r` A§VamÀ`m A§Vd©H«$ q^J AgVrb. 

3) 2 _r. Zm^r` A§VamÀ`m ~{hd©H«$ q^J AgVrb. 

4) 2 _r. Zm^r` A§VamÀ`m A§Vd©H«$ q^J AgVrb. 
Question no. 86 : Which of the following 
statements about the ‘Quit India Movement’ is 
incorrect ? 

1) Jinnah gave the call of ‘Divide and Quit’ 
2) Dr. Ambedkar called his colleagues not 

to participate in it. 
3) Rajendra Prasad, Jawaharlal Nehru 

and Rajagopalachari were imprisoned 
at the Ahmadnagar fort prison. 

4) Jayprakash Narain and Aruna Asaf Ali 
participated in the movement. 

àíZ H«$. 86 : Imbrbn¡H$s H$moUVo {dYmZ ^maV N>moS>mo 

Am§XmobZmg§X^m©V MwH$sMo Amho ? 

1) OrZm§Zr ‘\$moS>m d gmoS>m’ hr KmofUm Ho$br. 

2) S>m°. Am§~oS>H$am§Zr Ë`m§À`m AZw`m`m§Zm Ë`mV gm_rb 
Z hmoÊ`mMo AmXoe {Xbo. 

3) amO|ÐàgmX, Odmhabmb Zohê$ d amOJmonmbMmar 
`m§Zm Ah_XZJaÀ`m {H$ëë`mV ~§Xr åhUyZ R>odbo 
hmoVo. 

4) O`àH$me Zmam`U d Aê$Um Ag\$ Abr `m§Zr 
MidirV gh^mJ KoVbm hmoVm. 

Question no. 87 : Which of the following alphabets 
represents a place receiving maximum rain fall ? 

 

 

 

 

 

 

àíZ H«$. 87 : Imbrbn¡H$s H$moUË`m AjamZo XmI{dboë`m 
{R>H$mUr nmD$g gdm©V OmñV nS>Vmo ? 
 1) A 2) B 3) D 4) C 

A 

B 
C 

D 
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Question no. 88 : Shantanu’s Mother gave 
Shantanu 45% of the total money she had and 
additional Rs. 70/-. Still his mother had the same 
amount as much she had given to Shantanu. Then, 
how much total amount did she have initially ? 
 1) Rs. 1000 /- 2) Rs. 1200 /- 
 3) Rs. 1400  /- 4) Rs. 1600 /- 
àíZ H«$$. 88 : e§VZwÀ`m AmB©Zo e§VZwbm Amnë`m Odirb 

aH$_oÀ`m 45% d AmUIr OmXm ê$. 70 {Xbo Var AmB©Odi 

Ë`mbm {Xboë`m aH$_oBVH$s a¸$_ {e„H$ am{hbr, Va AmB©Odi 

gwê$dmVrg {H$Vr a¸$_ hmoVr ? 
1) ê$. 1000  2) ê$. 1200 
3) ê$. 1400  4) ê$. 1600 

Question no. 89 : Communalism in Indian context 
means ....... 
 1) serving the community in a befitting  
       manner. 
 2) using communal identity for political 
        gains. 
 3) a group of people which has common 
       ethnic feeling. 
 4) creating friendly relations with the other 
      communities. 
àíZ H«$. 89 : ^maVr` g§X^m©V ‘O_mVdmX’ åhUOo ......... 

1) g_wXm` / O_mVrMr Mm§Jë`m nÜXVrZo godm H$aUo. 

2) amOH$s` \$m`ÚmgmR>r O_mVrMr AmoiI dmnaUo. 

3) gm_mB©H$ dm§{eH$ ^mdZm AgUmè`m bmoH$m§Mm JQ.>  

4) BVa O_mVter _¡ÌrnyU© g§~§Y {Z_m©U H$aUo. 
Question no. 90 : Which of the following Acts 
formally introduced the principle of elections for 
the first time ? 
 1) Indian Councils Act, 1909 
 2) Government of India Act, 1919 
 3) Government of India Act,  1935 
 4) India Independence Act, 1947 
àíZ H«$. 90 : Imbrbn¡H$s H$moUË`m H$m`ÚmÝd`o {ZdS>UwH$sMo 

VÎd gd©àW_ Am¡nMm[aH$nUo _m§S>Ê`mV Ambo ? 

1) ^maVr` n[afX H$m`Xm 1909 

2) ^maV gaH$ma H$m`Xm 1919 

3) ^maV gaH$ma H$m`Xm 1935 

4) ^maVr` ñdmV§Í`mMm H$m`Xm 1947 
Question no. 91 : Consider the following 
statements regarding Indo-US Nuclear Deal. 
1) It deals with removal of restrictions of all 

aspects of cooperation and technology transfers. 
2) It deals with India’s acceptance as a full and 

equal partner of the International Nuclear 
Community. 

Which of the above statement/s is / are correct ? 
 1) Only 1  2) Only 2 
 3) Both 1 and 2 4) Neither 1 nor 2 

àíZ H«$. 91 : ^maV A_o[aH$m AUwH$amamg§~§YrÀ`m Imbrb 

{dYmZm§Mm {dMma H$am. 

1) ømV gdmªJrU ghH$m`© d V§ÌkmZ hñVm§VaUmVrb gd© 

àH$maÀ`m ~§YZm§Zm H$mTy>Z Q>mH$Ê`mMr VaVyX Amho. 

2) ^maVmbm Am§VaamîQ´>r` AUw g_wXm`mVrb g§nyU© d g_mZ 

^mJrXma åhUyZ _mÝ`Vm XoÊ`mMr VaVyX Amho. 

1) \$ŠV 1  2) \$ŠV 2 

3) 1 d 2 XmoÝhrhr         4) 1 qH$dm 2 H$moUVohr Zmhr 
Question no. 92 : Which of the following planets 
has year smaller than its day ? 
 1) Saturn  2) Mercury  
 3) Jupiter   4) Venus 
àíZ H«$. 92 : Imbrbn¡H$s H$moUË`m J«hmdarb df© Ë`mÀ`m 

{Xdgm§nojm bhmZ AgVo ? 

1) e{Z 2) ~wY 3) Jwê$ 4) ewH«$ 
Question no. 93 : Which of the following stations 
comes under rain shadow region ? 

 

 

 

 

 

 

 
 

àíZ H«$$. 93 : darb AmH¥$VrVrb H$moUVo {R>H$mU 
nO©Ý`N>m`oÀ`m àXoemV AmT>iVo ? 
 1) B 2) A 3) C 4) D 
Question no. 94 : ‘National Remote Sensing 
Agency’ (NRSA) in located at .... 
 1) Bangaluru 2) Chennai 
 3) Mumbai  4) Hyderabad 
àíZ H«$. 94 : amîQ´>r` gwXya g§doXZ g§ñWm (NRSA) ..........  

`oWo pñWV Amho. 

1) ~|Jbmoa (~§Jiya) 2) MoÝZB© 

3) _w§~B©  4) h¡Ðm~mX 
Question no. 95 : ENR technology, which was in 
news recently, is related to which of the following 
fields ? 
 1) Space  2) Defence  
 3) Nuclear  4) Bio-technology 
àíZ H«$. 95 : ZwH$VoM MM}V Agbobo ENR V§ÌkmZ 

Imbrbn¡H$s H$moUË`m joÌmer g§~§{YV Amho ? 

1) A§Vami  2) g§ajU  

3) AmpÊdH$  4) O¡dV§ÌkmZ 
 
 

A 

C 

B 

D 
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Question no. 96 : Consider the following 
statements : 

1) Girija Vyas is the Chairperson of National 
Commission for women. 

2) Shanta Sinha is the Chairperson of 
National Commission on children. 

Which of the above statement/s is / are correct ? 
 1) Only 1  2) Only 2 
 3) Neither 1 nor 2 4) Both 1 and 2 
àíZ H«$. 96 : Imbrb {dYmZm§Mm Aä`mg H$am. 

1) {JarOm ì`mg øm amîQ´>r` _{hbm Am`moJmÀ`m AÜ`j AmhoV. 

2) em§Vm {gÝhm øm amîQ´>r` ~mb Am`moJmÀ`m AÜ`j AmhoV. 

darbn¡H$s H$moUVo / Vr {dYmZ / Zo ~amo~a AmhoV. 

1) \$ŠV 1  2) \$ŠV 2 

3) 1 d 2 XmoÝhrhr ZmhrV 4) 1 d 2 XmoÝhrhr 
Question no. 97 : The Tenth Schedule of the 
Constitution deals with ......... 
 1) The Anti - Defection Law. 
 2) The official languages. 
 3) Panchayati Raj. 
 4) Legislative Lists. 
àíZ H«$. 97 : g§{dYmZmVrb Xhmdo n[a{eîQ> ho .......... er 

g§~§{YV Amho. 

1) njm§Va~§Xr H$m`Xm 2) A{YH¥$V ^mfm 

3) n§Mm`Vr amO 4) d¡Ym{ZH$ {df` gyMr 
Question no. 98 : Identify the river from the river 
regime from the diagram.  
 1) Yamuna  2) Mahanadi 
 3) Kaveri  4) Satluj 
 

 

 

 

 

àíZ H«$. 98 : darb AmH¥$Vr_Ü`o Xe©{dboë`m ZXrÀ`m 
nmÊ`mÀ`m à_mUmZwgma ZXr AmoiIm. 

1) `_wZm  2) _hmZXr    

3) H$mdoar   4) gVbO 
Question no. 99 : Which of the following countries 
is included in the Commonwealth, even though she 
has no historical ties with Britain ? 
 1) Australia 2) Austria 
 3) New Zealand 4) Mozambique 
àíZ H«$. 99 : Imbrbn¡H$s H$moUVm Xoe {~«Q>Zer Eo{Vhm{gH$ 

g§~§Y ZgVmZmhr amîQ´>Hw$b JQ>mV g_m{dîQ> Amho ? 

1) Am°ñQ´>o{b`m 2) Am°pñQ´>`m 

3) Ý`y{Pb§S>  4) _moP±{~H$ 

Question no. 100 : Which of the following 
commissions suggested abolition of the post of 
‘Governor’ ? 
 1) Administrative Reforms Commission 
 2) Sarkaria Commission 
 3) Raj Mannar Commission 
 4) Constitutional Review Commission 
àíZ H«$. 100 : Imbrbn¡H$s H$moUË`m Am`moJmZo amÁ`nmb nX 

aÔ H$amdo Aer {e\$mag Ho$br hmoVr ? 

1) àemgH$s` gwYmaUm Am`moJ 

2) gaH$mar`m Am`moJ 

3) amO_Þma Am`moJ 

4) g§{dYmZ nwZ©{dbmoH$Z Am`moJ 
Question no. 101 : Which of the following factors 
is not responsible for drought in India, in 2009 ? 
 1) Global warming 2) Long dry spell 
 3) EL Nino  4) Physiography  
àíZ H«$. 101 : ^maVmVrb 2009 À`m XwîH$mimg H$maUr^yV 

Zgbobm KQ>H$ ....... 

1) OmJ{VH$ Vmn_mZdmT> 2) XrK© H$moaS>m H$mi 

3) Eb² {ZZmo  4) àmH¥${VH$ aMZm 
Question no. 102 : The average weight of three A, 
B, C is 84 Kg. A fourth man D joins them and 
average weight of the four becomes 80 kg. If E, 
whose weight is 3 kg more than that of D, replaces 
A, then average weight of B, C, D and E become 79 
kg.  
 ∴ The weight of A is ................... kg 

àíZ H«$. 102 : A, B, C `m§À`m dOZm§Mr gamgar 84 {H$.J«°. 
Amho. Z§Va D ì`ŠVrMo dOZ {_i{dë`mg gamgar 80 {H$.J«°. 
`oVo. Oa E ì`ŠVrMo dOZ D À`m dOZmnojm 3 {H$.J«°. Zo OmñV 
AgyZ E ì`ŠVr A À`m OmJr Yaë`mg B, C, D d E `m§À`m 
dOZmMr gamgar 79 {H$.J«°. hmoVo, Va A Mo dOZ ........ {H$.J«°. 
Agob. 
 1) 64 2) 70 3) 75 4) 80 
Question no. 103 : Sharm - l - Shaikh is ...... 
 1) MOU between India and Pakistan.  
 2) place where a joint statement was signed 
      between India and Pakistan. 
 3) tourist destination.  
 4) famous mosque. 
àíZ H«$. 103 : ea_ - b - eoI åhUOo .......... Amho ? 

1) ^maV Am{U nm{H$ñVmZ `m§À`mVrb gm_§Oñ` H$ama 

2) ^maV Am{U nm{H$ñVmZ `m§À`mVrb H$amamda gøm  

    Ho$ë`m Jobobr OmJm 

3) n`©Q>ZñWi 

4) à{gÜX _erX 
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Question no. 104 : Who said, “If Scindia joins the 
rebels, I will pack off tomorrow”? 
 1) Lord Canning 2) Lord Dalhousie 
 3) Henry Butler 4) Thomas Hislop 
àíZ H«$. 104 : “Oa qe§Xo ~§S>Imoam§Zm OmD$Z {_imbo Va _bm 

CÚmM Jmem Jw§S>mimdm bmJob” ho dmŠ` H$moUr åhQ>bo ? 
1) bm°S>© H°$qZJ> 2) bm°S>© S>bhm¡gr 
3) hoÝar ~Q>ba 4) Wm_g {hñbm°n 

Question no. 105 : The volcanic activity - that gave 
rise to Deccan trap was of .............. type. 
 1) Explossive 2) Fissure 
 3) Placid  4) Central 
àíZ H«$. 105 : X»IZÀ`m nR>mamÀ`m {Z{_©VrMr Ádmbm_wIr 

{H«$`m .............. hmoVr. 
1) ñ\$moQ>H$ àH$ma 2) ôJr CÐoH$ 
3) ßb°{gS>  4) H|$Ðr` 

Question no. 106 : The ITER is being constructed 
at which place ? 
 1) Quebec  2) Oak Ridge 
 3) Cadrache 4) Okasai  
àíZ H«$$. 106 : ITER Mr ~m§YUr H$moR>o Pmbr ? 

1) Š`w~oH$ 2) AmoH$ [aO   3) H°$S´>°H$  4) AmoH$mgmB© 
Question no. 107 : ‘Long walk to freedom’ is an 
autobiography of ......... 
 1) Nelson Mandela    2) Mahatma Gandhi 
 3) General V. P. Malik   4) Nawaz sharif  
àíZ H«$. 107 : “bm±J dm°H$ Qy> {\«$S>_” øm AmË_M[aÌmMo 
boIH$ ............. ho AmhoV.  

1) ZoëgZ _§S>obm      2) _hmË_m Jm§Yr 
3) OZab ìhr. nr. _{bH$      4) ZdmO ear\$ 

Question no. 108 : Match the following : 
     Reactors       Fuel used 
 A) PHWR  1) MOX 
 B) PFBR  2) Enriched Uranium 
 C) AHWR  3) Natural Uranium 
 D) VVER  4) Thorium-uranium  
       fuel cycle 
àíZ H«$$. 108 : OmoS>çm bmdm. 

      AUw^Å>r      B§YZ 
 A) nr.EM.S>ãë ẁ.Ama 1) E_. Amo. EŠg. 

 B) nr.E\$.~r.Ama 2) g_¥ÜX `wao{Z`_ 

 C) E.EM.S>ãë ẁ.Ama 3) Z¡g{J©H$ `wao{Z`_ 

 D) ìhr.ìhr.B©.Ama               4) Wmo[a`_-`wao{Z`_  
       B§YZ MH«$ 
 1) A - 1,  B -  2,   C -  4,   D - 3  
 2) A - 2,  B -  1,   C -  4,   D - 3 
 3) A - 3,  B -  1,   C -  4,   D - 2 
 4) A - 1,  B -  3,   C -  2,   D - 4 
Question no. 109 : Ajantha and Ellora Caves are 
located on the mountain ranges of..... 
 1) Vindhyan 2) Satpura 
 3) Balaghat 4) Satmala 

àíZ H«$. 109 : AqOR>m-doê$iÀ`m boUr Agboë`m nd©Vam§Jm 

........... 

1) qdÜ`  2) gmVnwS>m 

3) ~mbmKmQ>  4) gmV_mim 
Question no. 110 : Old age pension is granted to 
destitute persons of ...... years and above. 

àíZ H«$. 110 : {Zam{lV Á`oîR> d`mÀ`m ì`pŠV§Zm {Zd¥Îmr 

doVZ ........ df} d Z§Va gwê$ hmoVo.  
 1) 60  2) 62  3) 65  4) 58  
Question no. 111 : VIth Pay Commission was 
headed by ........ 
 1) M. Krishna.    2) Justice B. N. Shrikrishna 
 3) P.M.A.Hakim                      4) Dr. Chaddha 
àíZ H«$$. 111 : ghmì`m doVZ Am`moJmMo AÜ`j ...... hmoVo. 

1) E_². H¥$îUm  2) Ý`m. ~r. EZ. lrH¥$îUm 

3) nr.E_.E. hH$s_ 4) S>m°. MT²>T>m 
Question no. 112 : Match the following : 
      Sports Women              Sports 
 A) Dipika Pallaikal          1) Cricket 
 B) Tania Sachdev          2) Squash 
 C) Zhulan Goswami          3) Chess 
 D) Jwala Gutta          4) Badminton 

àíZ H«$. 112 : Imbrb OmoS>`m bmdm. 

   _{hbm IoimS>y               Ioi 

A) {X{nH$m nëb¡H$b       1) {H«$Ho$Q> 

B) Vm{Z`m gMXod        2) ñŠd°e 

C) PybZ Jmoñdm_r        3) ~wpÜX~i 

D) Ádmbm JÅ>m        4) ~°S>q_Q>Z 
 1) A - 3,  B -  1,   C -  4,   D - 2  
 2) A - 1,  B -  2,   C -  3,   D - 4 
 3) A - 3,  B -  4,   C -  2,   D - 1 
 4) A - 2,  B -  3,   C -  1,   D - 4 
Question no. 113 : In which of the following 
events does Abhinav Bindra won the first gold 
medal for India in Bejing Olympics games ? 
 1) 10 m rifle shooting 
 2) 50 m pistol 
 3) 100 m rifle shooting  
 4) Double Trap 
àíZ H«$. 113 : Imbrbn¡H$s H$moUË`m IoiàH$mamV A{^Zd 

q~Ðm `mZo {~{O§J Am°{bpånH$ Ioim_Ü`o ^maVmgmR>r n{hbo 

gwdU©nXH$ qOH$bo ? 

1) 10 _r. am`\$b eyQ>tJ      2) 50 _r. {nñVyb 

3) 100 _r am`\$b eyQ>tJ      4) S>~b Q́>°n 
Question no. 114 : Rama Rao Committee is 
associated with ........ 
 1) I. S. R. O. 2) D. R. D. O. 
 3) N. C. L.  4) H. E. M. R. L. 
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àíZ H«$. 114 : am_m amd g{_Vr ............. er g§~§{YV Amho. 

1) BñÌmo  2) S>r.Ama.S>r.Amo. 

3) EZ.gr.Eb. 4) EM. B©. E_. Ama. Eb 
Question no. 115 : River Satluj is indicated by 
........ alphabet in the given map.  

 

 

 

 

 

 

 

 

àíZ H«$$. 115 : {Xboë`m ZH$mem_Ü`o ........ B§J«Or _wimjamZo 

gVbO ZXr Xe©{dbr Amho.  
 1) C 2) B 3) A 4) D 
Question no. 116 : Half life of radio-active element 
is 10 days. Therefore, its full life period will be 
........ 
 1) 20 days  2) 50 days 
 3) 40 days  4) infinite days 
àíZ H«$$. 116 : EH$m {H$aUmoËgmar _ybÐì`mMm AYm©`wî` H$mb 
Xhm {Xdg Amho åhUyZ Ë`mMm nyUm©`wî`H$mb ........... Agob. 

1) 20 {Xdg  2) 50 {Xdg 

3) 40 {Xdg  4) AZ§V {Xdg 
Question no. 117 : The Cripps Mission visited 
India during the tenureship of ................ 
 1) Lord Mountbatten       2) Lord Wavell 
 3) Lord Linlithgow       4) Lord Willingdon 
àíZ H«$. 117 : Imbrbn¡H$s H$moUmÀ`m H$mimV {H«$ßg {_eZZo 

^maVmg ^oQ> {Xbr ? 

1) bm°S>© _m§D$Q>~°Q>Z 2) bm°S>© dm°ìhob 

3) bm°S>© {bZ{bWJmo 4) bm°S>© {dqb½S>Z 
Question no. 118 : Which of the following 
countries has experienced fallen ‘birth rate’  for 27 
successive years ? 
 1) England  2) Japan 
 3) Korea  4) Germany 
àíZ H«$. 118 : Imbrbn¡H$s H$moUË`m XoemZo gbJ 27 df} 

CVaVm OÝ_ Xa AZw^dbm Amho ? 

1) B§½b§S> 2) OnmZ 3) H$mo[a`m 4) O_©Zr 
Question no. 119 : National School of Drama 
(NSD) was set up by ........... 

1) Lalit Kala Academy. 
2) Department of Culture. 
3) Indian Council for Cultural Relation       

(ICCR). 
4) Sangeet Natak Academy.  

àíZ H«$. 119 : Z°eZb ñHy$b Am°\$ S´>m°_m Mr ñWmnZm .......... 

Zo Ho$br. 
1) b{bV H$bm AH$mX_r  

2) gm§ñH¥${VH$ ImVo 

3) ^maVr` g§ñH¥${VH$ g§~§Y n[afX (ICCR) 
4) g§JrV ZmQ>H$ AH$mX_r 

Question no. 120 : How many individuals have 
won an Olympic medal for India after 
independence? 

àíZ H«$$. 120 : ñdmV§Í`àmßVrZ§Va {H$Vr ^maVr`m§Zr 

Am°qb{nH$ ñnY}_Ü`o ^maVmgmR>r d¡`pŠVH$ nXH$ {_i{dbo 

Amho? 
 1) 7> 2) 5 3) 6 4) 8 
Question no. 121 : Consider the following 
statements : 
A) Margaret Thatchar was the first women Prime 

Minister of Britain. 
B) Sir Winston Chirchill won the Nobel Prize for 

literature. 
Which of the above statement/s is / are correct ? 
 1) A only  2) B only  
 3) Both A and B 4) Neither A nor B 
àíZ H«$. 121 : Imbrb {dYmZm§da bj Úm. 

A) _mJm©aoQ> W°Ma øm {~«Q>ZÀ`m n{hë`m _m{hbm n§VàYmZ 

hmoË`m. 

B) ga {dÝñQ>Z M{M©b `m§Zm gm{hË`mMo Zmo~ob nm[aVmo{fH$ 
{_imbo hmoVo. 

darbn¡H$s H$moUVo / Vr {dYmZ / Zo ~amo~a AmhoV ? 
 1) \$ŠV >A  2) \$ŠV B  
 3) XmoÝhr A Am{U B 4) A Am{U B XmoÝhrhr MyH$ 
Question no. 122 : Who amongst the following is 
associated with ‘Rural Banking’ ? 
 1) Mohammed Yunus      2) Chanda Kochhar 
 3) K. V. Kamat      4) Deepak Parekh 
àíZ H«$. 122 : Imbrbn¡H$s H$moU J«m_rU ~±qH$J joÌmer 

{ZJ{S>V Amho ? 

1) _hå_X `wZwg 2) M§Xm H$moƒa 

3) Ho$. ìhr. H$m_V 4) XrnH$ nmaoI 
Question no. 123 : Indian women marked their 
entry into the public space during the .... movement. 
 1) Swadeshi  2) Non-cooperation  
  3) Civil Disobedience  4) Quit India  
àíZ H«$. 123 : ^maVr` pñÌ`m§Mm gmd©O{ZH$ joÌmVrb àdoe 
......... MidirÀ`m doir Pmbm. 

1) ñdXoer  2) AghH$ma  

3) g{dZ` H$m`Xo^§J 4) ^maV N>moS>mo  
Question no. 124 : ‘Auroville’ is located in ........... 
 1) Pondichery  2) Chennai 
 3) Nagar Haveli 4) Madurai  

A B 

C 

D 
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àíZ H«$. 124 : ‘Am°amo{dbo’ ho .......... {R>H$mUr pñWV Amho ?  

1) nm±S>oMoar 2) MoÞB© 3) ZJa hdobr 4) _XwamB© 
Question no. 125 : EL Nino phenomena is 
associated with which of the following currents ? 
 1) Bengula current     2) Agulhas current 
 3) Californian current    4) Humbolt current  
àíZ H«$. 125 : Eb. {ZZmo g§km Imbrbn¡H$s H$moUË`m  

àdmhmer g§~§{YV Amho ? 
 1) ~|½`wbm àdmh 2) AJwëhmg àdmh 

 3) H°${b\$mo{Z©`Z àdmh 4) h§å~moëQ> àdmh 
Question no. 126 : Which of the following places 
experiences earlier sunrise than Berlin ? 
 1) Belgium  2) Rome 
 3) Helsinki  4) Amsterdam 
àíZ H«$. 126 : Imbrbn¡H$s H$moUË`m {R>H$mUr ~{b©ZÀ`m AmYr 

gy`m}X` hmoVmo ? 
 1) ~opëO`_  2) amo_ 

 3) hobqgH$s  4) A°_ñQ>aS>°_ 
Question no. 127 : Who is called as ‘Lion of the 
Senate’ ? 
 1) Edward F. Kenedy 2) John F. Kenedy 
 3) Barak Obama  4) John McGain 
àíZ H«$. 127 : ‘bm`Z Am°\$ X {gZoQ’ Ago H$moUmg åhQ>bo 
OmVo ? 
 1) ES>dS>© E\$. Ho$ZoS>r 2) Om°Z E\$. Ho$ZoS>r 
 3) ~amH$ Amo~m_m 4) Om°Z _°Ho$Z 
Question no. 128 : Who was the only Indian 
woman to receive the ‘Kaiser-E-Hind’ ?  
 1) Sarojini Naidu  
 2) Pandita Ramabai 
 3) Sarladevi Chowdhari 
 4) Kadambini Ganguly  
àíZ H«$$. 128 : ‘H¡$ga-E-qhX’ hm {H$Vm~ {_idUmar EH$_od 
^maVr` _{hbm H$moU ? 
 1) gamo{OZr Zm`Sy> 2) n§{S>Vm a_m~mB© 
 3) gabmXodr Mm¡Yar 4) H$X§{~Zr Jm§Jwbr 
Question no. 129 : Mirza Ghalib was the court poet 
of .......... 
 1) Muhammad Shah Rangila 
 2) Shah Alam I 
 3) Akbar II 
 4) Bahadur Shah II ‘Zafar’ 
àíZ H«$. 129 : {_Pm© Jm{b~ hm .......... Mm amOH$dr hmoVm. 
 1) _wh§_X emh a§Jrbm 2) emh Amb_ I 
 3) AH$~a II  4) ~hmXya ehm Om\$a II 
Question no. 130 : Which of the following is best 
suitable for the Cement Industry ?  
 1) Dalmianagar 2) Siliguri 
 3) Shrinagar 4) Karimnagar 
 1) 4 and 2 2) 1 and 4 3) 3 and 2  4) 1 and 2 
 

àíZ H«$$. 130 : {g_|Q> CÚmoJmgmR>r gw`mo½` {R>H$mU H$moUVo ? 

 1) Xmb{_`mZJa 2) {g{bJwS>r 

 3) lrZJa  4) H$ar_ZJa 
 1) 4 Am{U 2         2) 1 Am{U 4  
 3) 3 Am{U 2          4) 1 Am{U 2 
Question no. 131 : Which Magadhan King claimed 
to be Ekarat, the sole sovereign ?  
 1) Ajata Shatru  2) Udayin 
 3) Mahapadma Nanda  4) Ashoka  
àíZ H«$. 131 : _JYmMm H$moUVm amOm ñdV:bm EH$maV 

(EH$_od gmd©^m¡_) åhUdyZ KoV hmoVm ? 
1) AOmV eÌy 2) CX`rZ 3) _hmnÙ Z§X  4) AemoH$ 
Question no. 132 : Present ages P and Q are in the 
ratio 5 : 6. Seven years later this ratio becomes 6:7. 
What is the present age of P in years ? 
àíZ H«$. 132 :  P Am{U Q Mr AmOMr d`o 5 : 6 à_mUmV 

AmhoV. gmV dfm©Z§Va Ë`m§Mr d`o 6 : 7 `m à_mUmV AmhoV Va  
P Mo AmOMo d` {H$Vr df} Agob ? 
 1) 45 2) 49 3) 50 4) 35 
Question no. 133 : ................ has won two Nobel 
Prizes, one for science subject and second for other 
than science subject. 
 1) Linus Pauling 2) Madam Curie 
 3) J. J. Thomson 4) Rutherford 
àíZ H«$. 133 : ............ bm XmoZXm Zmo~ob nwañH$ma {_imbm, 
Ë`mVrb EH$ {dkmZ {df`H$ Va Xwgam {dkmZoVa {df`mgmR>r 
hmoVm. 
 1) bm`Zg nm°qbJ 2) _mXm_ Š`war 
 3) Oo. Oo. Wm°_gZ 4) ê$Xa\$moS>© 
Question no. 134 : National highway No. ........ 
does not pass through Mumbai.  
àíZ H«$. 134 : amï´>r` _hm_mJ© H«$. ...... _w§~B©_mJ} OmV Zmhr.  
 1) 03 2) 17 3) 06 4) 04 
Question no. 135 : At which of the following 
places excavations in connection with the Vedic 
Age  have been conducted ?  
 1) Chandigarh  
 2) Pataliputra 
 3) Kurukshetra   
 4) Hastinapur and Atranjikhera 
àíZ H«$. 135 : Imbrbn¡H$s H$moUË`m {R>H$mUr d¡{XH$ 

H$mimVrb Adeofm§À`m g§X^m©V CËIZZ Pmbo Amho ? 
1) M§{XJT>                2) nmQ>brnwÌ 
3) Hw$ê$joÌ                4) hpñVZmnya d AÌ§OrIoS>m 

Question no. 136 : Consider the following 
statements : 
1) The length of a mile is greater than a kilometer. 
2) Florida peninsula experiences cyclone frequently 
3) Taiga forests are hard wood forests. 
Which of the above statements are correct ? 
 1) 1 and 3  2) 3 and 2 
 3) 1 and 2   4) All of above 
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àíZ H«$.136 : Imbrb {dYmZm§Mm Aä`mg H$am. 

1) _¡bmMr bm§~r {H$bmo_rQ>anojm OmñV AgVo. 

2) âbmo[aS>m pìXnH$ënmg MH«$sdmXimMm dma§dma VS>mIm ~gVmo 

3) V¡Jm dZo H$R>rU bmH$S>mMr AmhoV. 

darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ? 
1) 1 Am{U 3  2) 3 Am{U 2 

3) 1 Am{U 2  4) darb gd© 
Question no. 137 : Consider following statements : 
1) INS Arihant will be the first nuclear submarine 

to be inducted into Indian Navy. 
2) It will be fitted with Dhanush Missile. 
Which of these is incorrect ? 
 1) None 2) Only 1 3) Only 2  4) Both 
àíZ H«$.137 : Imbrb {dYmZm§Mm {dMma H$am. 

1) ^maVr` Zm{dH$ XbmV g_m{dï> hmoUmar INS A[ah§V hr 

n{hbr AmpÊdH$ nmU~wS>r Agob. 

2) YZwf jonUmñÌ Ë`mda ~gdbo OmB©b. 

darbn¡H$s H$moUVo {dYmZ MyH$ Amho ? 
1) H$moUVohr Zmhr$ 2) \$ŠV  1 

3) \$ŠV 2  4) XmoÝhr 
Question no. 138 : Who was the first Muslim ruler 
to formulate the theory of divine right of the kings ? 
 1) Qutbuddin Aibak 2) Iltutmish 
 3) Balban  4) Allauddin Khilji 
àíZ H«$. 138 : ‘amOmMm B©ídaXÎm h¸$’ hm {gÜXm§V _m§§S>Umam 
n{hbm _wpñb_ amOm H$moU hmoVm ?  

1) Hw$Vw~w{ÔZ Eo~H$ 2) BëVw{_e 
3) ~ë~Z  4) A„mCÔrZ {IbOr 

Question no. 139 : Each symbol in following sum 
is a different non-zero digit.  

                     ∆      +           
What could be the possible answer for above sum ? 

àíZ H«$$.139 : Imbrb CXmhaUmVrb àË`oH$ IyU hr eyÝ`oVa 

doJim A§H$ Amho. 

                     ∆      +           

darb CXmhaUmMo CÎma H$m` AgUo eŠ` Amho ? 
 1) 16 2) 65 3) 195 4) 212 
Question no. 140 : As per Indian protocol, who 
amongst the following ranks highest in the order of 
precedence ? 
 1) Governor of the state within his state 
 2) Former President 
 3) Deputy Prime Minister  
 4) Speaker of Loksabha  
àíZ H«$.140 : ^maVr` amO{eîQ>mMmamZwgma Imbrbn¡H$s 
H$moUmbm gdm}ƒ àmYmÝ`H«$_ {Xbm OmVmo ? 

1) amÁ`nmbm§Zm, Ë`m§À`m amÁ`mV    2) _mOr amîQ´>nVr 
3) Cn n§VàYmZ                 4) bmoH$g ôMm g^mnVr 

 

Question no. 141 : The land revenue in Mughal 
India was ............ 
 1) Tax on land  
 2) Share in produce 
 3) Tax on the cultivation 
  4) Tax on the owner of the land 
àíZ H«$. 141 : _wKb H$mimV eoVgmam åhUOo ........... hmo`. 

1) O{_Zrdarb H$a 2) CËnm{XVmVrb dmQ>m 

3) bmJdS>rdarb H$a 4) ŷYmaH$mdarb H$a 
Question no. 142 : India has signed Technology 
Safeguard Agreement (TSA) with which of the 
following countries ?  
 1) US  2) Russia 3) France 4) Japan 
àíZ H«$$.142 : ^maVmZo V§ÌkmZ gwajm H$ama H$moUË`m 

Xoem~amo~a Ho$bm Amho ? 

1) A_o[aH$m 2) a{e`m  3) \«$mÝg       4) OnmZ 
Question no. 143 : The President of India does not 
appoint ............. 
 1) Prime Minister  
 2) Governor 
 3) Chairman of Planning Commission 
 4) Attorney - General of India 
àíZ H«$. 143 : ^maVmMo amîQ´>nVr ............. Mr Zo_UyH$ H$aV 
ZmhrV. 

1) n§VàYmZm§     
2) amÁ`nmbm§ 
3) {Z`moOZ _§S>imMo AÜ`jm§   
4) ^maVmÀ`m _hm{^`moŠË`m§ 

Question no. 144 : A parallelopiped of length 4 
cm, breadth 3 cm and height 6 cm is cut diagonally 
maintaining the height as 6 cm. What is the total 
surface area of each part in cm2 ? 

àíZ H«$. 144 : 4 g|_r bm§~r, 3 g|_r ê§$Xr d 6 g|_r C§Mr 
Agbobr EH$ BpîQ>H$m{MVr _Ymo_Y H$Um©V Aer H$mnbr H$s 
C§Mr 6 g|_r H$m`_ amhrb, Va àË`oH$ ^mJmMo EHy$U n¥îR>\$i 
{H$Vr g|_r

2

 hmoB©b ? 
 1) 108 2) 84 3) 54 4) 94  

Question no. 145 : Which of the following factors 
is not a demand-pull factor responsible for rise in 
prices ? 
 1) Growth of population  
 2) Black money 
 3) Fluctuation in output 
 4) Government expenditure 
àíZ H«$.145 : Imbrbn¡H$s H$moUVm {H$§_V d¥pÜX hmoÊ`mg 

_mJUrÀ`m ~mOyZo n[aUm_ H$aUmam KQ>H$ Zmhr ? 

1) bmoH$g§»`m d¥pÜX 2) H$mim n¡gm 

3) CËnmXZmV MT>-CVma 4) emgH$s` IM© 
 
 



18 

Question no. 146 : In the following sum if there are 
seven terms with increase of one digit every time as 
3 + 33 + 333 + ........... then what would be the last 
three digits in the answer ? 

àíZ H«$.146 : Imbrb g§»`m§À`m ~oaOoV gmV g§»`m Aem 

AmhoV H$s, àË òH$ doir EHo$H$ A§H$ g§»`oV dmT>V OmVmo, Ogo  

3 + 33 + 333 + ......... Va Ë`m§À`m ~oaOoVrb g§»`oV 

eodQ>Mo VrZ A§H$ H$moUVo AgVrb ?   
 1) ....... 701  2) ....... 581 
 3) ....... 331  4) ....... 901 
Question no. 147 : A political party is eligible to be 
recognized as a national party only if it fulfills 
condition of ..... 

1) Secured 6% of valid votes polled in a 
State. 

2) Secured 6% of valid votes polled in four 
or more states and elected atleast four 
members  to Loksabha. 

3) Both 1 and 2 above 
4) Secured 4% of valid votes polled in a 

state. 
àíZ H«$.147 : EImÚm amOH$s` njmbm amîQ´>r` nj åhUyZ 

A{YH¥$V _mÝ`Vm {_iÊ`mgmR>rMr nmÌVm AQ> nwT>rb_mUo Amho. 
Ë`m njmbm H$_rV H$_r.............. 

1) amÁ`mVrb d¡Y _VXmZmVrb 6%  _Vo {_im`bm 
hdrV. 

2) Mma qH$dm A{YH$ amÁ`m§_Ü ò d¡Y _VXmZmVrb 6%  
_Vo Am{U H$_rVH$_r 4 gXñ`m§Mr bmoH$g^oda 
{ZdS> Pmbr Agmdr. 

3) darb 1 d 2 XmoÝhr 

4) amÁ`mVrb d¡Y _VXmZmVrb 4% _Vo {_im`bm 
hdrV. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Question no. 148 : What is the radius of incircle of 
a triangle whose two sides of 6 cm and 8 cm are 
perpendicular to each other ? 
 1) 4 cm 2) 7 cm 3) 2 cm 4) 5 cm 
àíZ H«$.148 : 6 g|_r d 8 g|_r ~mOy H$mQ>H$moZmV AgUmè`m 

{ÌH$moUmV VrZhr ~mOy§Zm ñne© H$aUmè`m Am§VadVw©imMr {ÌÁ`m 

{H$Vr Agob ? 

1) 4 go§_r 2) 7 g|_r 3) 2 g|_r 4) 5 g|_r 
Question no. 149 : The fundamental rights have 
.......... behind them. 
 1) a moral force   
 2) a legal force  
 3) a force of the public opinion   
 4) a rational force 
àíZ H«$.149 : _yb^yV A{YH$mam§_mJo ............ nmR>~i AgVo. 

1) Z¡{VH$  2) H$m`Xoera 

3) bmoH$_VmMo  4) ~wÜXràm_mÊ`dmXmMo 
Question no. 150 : Which company took over 
Satyam after the scam ? 
 1) Teck Mahendra 2) Infosys 
 3) Persistent 4) Sunguard 
àíZ H«$.150 : gË`_ H§$nZrVrb KmoQ>mù`mZ§Va Imbrbn¡H$s 
H$moUË`m H§$nZrZo Vr Vmã`mV KoVbr ? 

1) Q>oH$ _h|Ð  2) BÝ\$mo{gg 

3) n{g©ñQ>§Q>  4) gZJmS>© 
 
 
 

PAPER  ENDS  HERE  
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 Omon ª̀V Vwåhmbm gm§{JVbo OmV Zmhr Vmon ª̀V hm àíZg§M CKSy> ZH$m. 

 

S>m°. Am§~oS>H$a ñnYm© narjm H|$Ð, `eXm, nwUo 

`m§À`mH$arVm 

àkm emoY d gdm}ËH¥$ï>Vm H|$Ð, Zm¡. dm{S>`m _hm{dÚmb`, nwUo 
`m§Zr Am`mo{OV Ho$bobr 

àdoe narjm 
 

doi : XmoZ Vmg                                                                                   A{YH$V_ JwU : 150 

gyMZm 
1. narjm gwê$ Pmë`mZ§Va bJoMM øm àíZg§MmV H$mhr nmZo H$moar qH$dm \$mQ>bobr AmhoV H$m qH$dm H$mhr nmZo qH$dm 

àíZ Jhmi Pmbo AmhoV H$m ho Vnmgm. Vgo Agë`mg øm àíZg§MmEodOr ZdrZ àíZg§M ¿`m. 

2. ~mOybm {Xboë`m Mm¡H$moZmV Vw_Mm narjm H«$_m§H$ {bhm.  
     Ë`m ì`{V[aŠV `m àíZg§Mmda H$mhr {bhÿ ZH$m. 
3. `m àíZg§MmV EHy$U 150 àíZ AmhoV. àË`oH$ àíZ B§J«Or Am{U _amR>r _Ü`o N>mnbobm Amho. àË`oH$ àíZmbm Mma 

n`m©` {Xbobo AmhoV. Ë`mn¡H$s Agm EH$ n`m©` {ZdS>m H$s Omo Vwåhmbm CÎman{ÌHo$da Zm|Xdm`Mm Amho. Oa Vwåhmbm 
EH$mnojm A{YH$ n`m©` ~amo~a dmQ>V AgVrb Va Ë`mVrb Vwåhmbm dmQ>Umam gdm©V `mo½` n`m©` Zm|Xdm. H$moUË`mhr 
àíZmgmR>r Ho$di EH$M n`m©` {ZdS>m. 

4. Vwåhmbm Vw_Mo n`m©` doJù`m {Xboë`m CÎman{ÌHo$daM Zm|Xdm`Mo AmhoV. CÎman{ÌHo$da {Xboë`m gyMZm dmMm. 
5. gd© àíZm§Zm g_mZ JwU AmhoV. 
6. CÎman{ÌHo$da n`m©` Zm|X{dÊ`mnydu Vwåhmbm CÎman{ÌHo$da {d{eð> _m{hVr ^am`Mr Amho. hr _m{hVr Vwåhmbm {Xboë`m 

àdoe n{ÌHo$da Amho. 
7. gd© àíZm§Mo n`m©` Zm|XdyZ nyU© Pmë`mZ§Va Am{U narjm g§në`mZ§Va Vwåhmbm n`©dojH$m§H$S>o \$ŠV CÎman{ÌH$m 

Úmd`mMr Amho. hm àíZg§M KodyZ OmÊ`mg Vwåhmbm nadmZJr Amho. 
8. H$ÀMo H$m_ H$aÊ`mgmR>r `m àíZg§MmÀ`m eodQ>r H$mhr OmJm {Xbr Amho. 
9. MwH$sÀ`m CÎmamH$arVm X§S> : 
       dñVw{Zð> àíZn{ÌHo$_Ü`o MwH$sMo CÎma Zm|X{dUmè`m narjmWvZm X§S> Ho$bm OmB©b. 

i) àË`oH$ àíZmbm Mma n`m©`r CÎmao {Xbr AmhoV. narjmWuZo {Xboë`m àË`oH$ MwH$sÀ`m CÎmamgmR>r Ë`m àíZmbm 
Agboë`m JwUm§À`m EH$ V¥{V`m§e JwU (0.33) X§S> åhUyZ H$mnbo OmVrb. 

ii) Oa narjmWuZo EH$m àíZmgmR>r EH$mnojm OmñV CÎmao Zm|X{dbr Va Oar Ë`mVrb EImXo CÎma ~amo~a Agob 
Varhr Vo CÎma MwH$sMo _mZbo OmB©b d Ë`mgmR>r darbà_mUo X§S> Ho$bm OmB©b. 

iii) Oa EImÚm àíZmMo CÎma Zm|X{dboM Zmhr Va Ë`m àíZmgmR>r H$moUVmhr X§S> Ho$bm OmUma Zmhr.  

10.  `m narjoMm {ZH$mb {X. 20.11.2009 Vo 22.11.2009 `m Xaå`mZ Am_À`m www.yashada.org/acec `m 

do~gmB©Q>da Kmo{fV Ho$bm OmB©b. 
 

 Omo n ª̀V Vwåhmbm gm§{JVbo OmV Zmhr Vmon ª̀V hm àíZg§M CKSy> ZH$m. 

Note : English version of the instructions is printed on the front cover of this Booklet.
 


